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« 84% code : 2-18.py

line 6 : 69 => 67
« 117% code : 3-13.py

code : 3-13.py

1| print("Score Average Calculator™)

2| number = input("How many classes? ")

3| total =0

4| count =0

5| while None: # Write your Toop condition
6 pass # Get and accumulate scores

7

8 A7

9| if count > 0:

10 pass # Compufe and print the average
11| else:

12 print "Your average score = 0.0")

« 131% Of2i% 2t (footnote)

8 A A7 thrite] Yol A AHgae 2ane2ol 0ol gtk 719 19 9] e s 719% 19
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. 176% 9I% M3 =X Al

=> 1oop(2,7,1)\\\._ power(2,7)
///_ => loop(2,7-1,2%1) == loop(2,6,2)
=> loop(2*2,6//2,2) == loop(4,3,2)
=> loop(4,3-1,4%2) == loop(4,2,8)
=> loop(4*4,2//2,8) == loop(16,1,8)
=> loop(16,1-1,16*8) == loop(16,0,128)
= 128

. 181% Ol

432 Lt &7| g12lE
U aLe|Ee WA 22 F317], 22 Uir7] ikt ol 8%t

if even(m) and even(n)

if even(m) and odd(n)

M= HHLY|
if odd(m) and even(n)

ged(m, n) = ged(m, ”;’" ) if odd(m) and odd(n) and m < n

ged(n, ’”2‘” ) if odd(m) and odd(n) and m > n

n ifm=0

m if n=0

. 184% ?|Z IE code: 4-24.py

line14:elif =>else
line 17 : elif =>else



. 216% 9%

23 0|3
(1+2+---+1)+(1+1+1+2+---+ n
2 2 2 2
ke l—°l —7H Yorg upe H2 Hopx| thast o] WY ?}EEQ-‘J——%‘:}
=22 S
(1+2+...+£)+(1+2+... +1x£
2 2 2
a9 AR F3t 24 Fo] Z2oru g thg} ol Uh’\l l—’F ik,
-'20
2x<1+2+~-'¢€'+£x£
2 2
|Z O3 3
t—> o | ¢ | 2019 t T T
v
v 2019
oz[ns| > y
o3| X | s
4 — \ 4
3% H & | F B 2|8

XX O|ZX OF = A

""*E XsE @%‘6}34‘?‘;,
; @A) xs 1= [
| - xslA 7}% e A48 Bl smallests AAeh,
* xsolA] smallestE A A3},

3 of 10

TIPS éﬁﬁlx§}°mﬂ*5m BIAES 2[BBit,

.« xsE AAZ @gg}ﬁi ,; smallest’7t MFAL,

F82D)xs = [1
' « AFE Javl glor e 1S a2 e



. 244% Of2HZ 2 ChA|

[3,5.8,4,2,1,9,5,7]
g Eo [BIASSIZINOSHATs ¥ getd o 1o R HejFe st 2
o] BR-E FHoE 42 AT A der] FLa,

B gl

\

3 5/ 8 4 2 1 9 5 7
1 2 3 7 5 4 8 5
/N VAN
1] 2 5 4 5| |7 8
AR v
5 4| |5 8

4 of 10



=
0|2 A 1 1s => left, rs => right (22 5324)

partition(5,[7,2,1,9,4])
=> left, right = partition(5,[2,1,9,4])
=> left, right = partition(5,[1,9,4])
=> left, right = partition(5,[9,4])
=> left, right = partition(5,[4])
=> left, right = partition(5,[])

=> [1, []
=> [4], []
=> [4], [9]
=> [4,1], [9]

= [4,1,2], [9]
= [4,1,2], [9,7]

2477 OfZ|Z 5-30.py FE
H0|E MZF 1 1s => Teft, rs => right (ZZ232X4)

Z 1% 5-31.py ZE
H0lE HE 1 1s => left, rs => right (Z{ZF2324)

248% Of2iZ 5-32.py ZE=
HH0|E MY 1 1s => Teft, rs => right (ZZ23X4)

. 278% OfHZ 4

6.2 O|2ZA

6.2.1 =X FF &l
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g & 9o} Bl=E HlE 2 AT 2270 2 o] daglEe
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« 284% code: 6-12.py

line 1: key => x
line 5: key => x
line 8 : key => x
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. 285% OfHZ 47

6.3.2 845 HAE
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o 288% code : 6-14.py : EI21 42| EXIH UL X7 (2|0] HEHY SFAh

code : 6-14.py

from random import sample, randrange

from time import perf_counter /’ HA

print("Preparing datal/for Sequsearch. Please, wait a moment ...")

data = sample(range(10000000) ,8000000)

A v AW N

. 306% ¢1& 24| 6.1 - code 6-20.py

201 10: = 2 == 2 &X

« 318% /% 6-34.py

2
code : 6-34.py

1| def 1ongest_streaki(s):
2 pass # write your code here.
3




« 326% =& O (2|0] Hehd 2k
A EAZl /1M BAYEVVE JEUXA £, 27, 1744 Fole &
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« 332% code : 7-2.py

line7:4=>5

« 341% 7120 7.28 =&

AN E : pA A0 => MZ CHE n7le] 21240

. 361Z offz

o]% 314 Yule] s} Bold winlth oF F i F713ka, ARAIZEE niEslA 2
oF ol S7HRE & 5 Slok. B3| mA, o] |57} nolH, fnkg 2"
3] ol g3l|of gt
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« 383Z OfZZ (Q|O] WM A

=

HEE= HEHEZN
AT FHEC O
o] 227 AZN2ES [1, 2, 3, 412 IR OGS UvA 7l2ES 424

FHes 0 2302 Wl
ok Zo|ct,

row0 = [1, 2, 3, 4]

rowl = row0[2:4] + row0[0:2]
row2 = [row0[1], row0[0], rowO[3], row0O[2]]
row3 = row2[2:4] + row2[0:2]

board = [row0, rowl, row2, row3]
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« 388% code : 8-9.py : ZI2l 2 HHAH, 22l 4,5 &t EE H

code : 8-9.py

def transpose(board): / HA
—transpesed—="1—

size = len(board) transposed = [[] for _ 1in range(size)]

for row in board:
for 1 in range(size):

pass # Write your code here.
return transposed

W 00 N O V1 A W N =

« 392F Bt ™ oAl

>>> solution_board = [[1, 2, 3, 41, [3, 4, 1, 2], [2, 1, 4, 31, [4, 3,
2, 111

>>> puzzle_board = sol ution_boar‘ci-\ HA

>>> puzzle_board

[r, 2, 3, 41, [3, 4, 1, 21, [2, 1, 4, 31, [4, 3, 2, 1]1]

>>> puzzle_board[2][3] = 0

>>> puzzle_board

[rx, 2, 3, 41, I3, 4, 1, 21, [2, 1, 4, 0], [4, 3, 2, 1]1]

>>> solution_board

[[1, 2, 3, 41, [3, 4, 1, 21, [2, 1, 4, 01, [4, 3, 2, 1]]

THRAL Qolo] Ao| B 4 9t
=> T4 B2 ojo] N2 WS 4 oUf, AN HIt £FIKSE 0| He A2 s8R o

+ 425% code : 9-1.py OIM 2t 10 F4
deak => deck

. 434% 2N YDo|Zo| 4.
T 5~142 —> T 5~14E

=
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3101 CHEZXQ! LHE ofl2l

oelere wyyg o _— AP
~SyntaxError— oL RS
TypeError | WAz}t = g4 Ql4=2] gQlo] E3 39
ValueError | A4zt Ei= g4 Q149 gto] 9 4$-
NameError | 2%t 20| Q= B2+ olFo] Yehd 3¢
IndexError | gl QlE|AES ALERH AL
KeyError | §l= 715 AM8& B4
ZeroDivisionError | 002 32 5k= 3¢
e TS g ok A9,

97 3 S YA 2R3 Sk BT

vtold #F eholu 2] EA oA FFE 5 o

71e} i aﬂ%i%
FileNotFoundError

 475% M OfO|2

o n @3 r gko] 0 oo ob A, r Fho] n FHT 2 74 2342 A oE 4 gl
0] 7% assert = &-83}c AssertionError d|2]E HAYA]F7| 1L, o] A 2|3}

o O30 22 FH o2 AR E S Sl AP Bt

4C6 is not defined.
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o 476% A MM AR X

This program computes combination of two natural numbers, n and r.
Press Control+C to quit.

Enter n: 6

Enter r: 4

6C4 = 15

Enter n: three

Must be a number.

Enter n: -3 Enter n: 4
Must be a natural nunber. Enter r: @

4C6 1is not defined.
Enter n: 30

Enter r: 3

30C3 = 4060

Enter n: <control>+C
Goodbye!



